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QUESTION 1

Push the Exhibit Button to load the referenced "testml.xsd".

[testml. x3d]
<¥3:i=chema
xmlns:xs="http://wrw.wd.org/ 2001/ IML3chema >
LHElelement name="IestiL" CLYpESTLeEdtmlliype™ />
<xs:icomplexType aame="testmlType'>
<H3:3equence:
<xa:element —ef="perason”
maxXlcours="unbounded"™ />
<fxs:i1s3equencex
</®s:icomplexTyper

<xzielement name="person’ type="peraonType’™ o
<xs:complexType aame="personType":=
<X3:Seqguences
<xa:elewment sef="name" />
<us:element zef="phone"™ />
</ %31 8equence>
</wa:complexTyper

<ys:element name="name" type="xs:string"™ />
f<xz:ielement name="phone" type="xs:scring™ S
</ws:ischemasr

Assume that "testml.xsd" is defined. Without rewriting this XML Schema Document (“testml.xsd"), create a new,
separate XML Schema Document to partially change the schema definition to write a cellPhone element as a child
element of the person element. As a result, the following "XML Document” will be valid against the new schema. Which
of the following correctly describes the new XML Schema Document? Assume the XML parser correctly processes the
XML schema schemalocation attribute.
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[EML Document]
<TestML>
<pErIon:>
<name>John Smith</ nemes
<phone>03-0000-29929</ phone >
<pellPhone>000-1111-2222</cellPhones
</ personx
</ TestML>

(" A& <ws:schema xmlns:xs="hctp://wuw.ws.org/2001/XNLSchema™:
<H5:import schemalLoocation="testml.xsd" [f>
~Xs: complexType name="personType" >
<xS:sequences
<Hg:element ref="name" />
<xs:element ref="phone" />
<xg:element ref="cellPhone" />
</ w31 sequencex
< fxs:complexType:-
<xarelement name="cellPhone™ type="wxz:istring™ />
</ ®s:3chemar

" = <#s:ischema ¥mlns:=s="http://vuw.w3l.org/2001/ XML 3chemat >
<x5:incinde schemalLocation="testml.xsd" [f>
XK= :complexType name="newPersonType" substitutionGroup="personType'">->
XS 3equUEnces>
f<xg:element ref="name=" />
fxs:element ref="phone" />
fxg:element ref="cellPhone™ />
</ wasequences
<frsivumplexType-
<xs:element name="cellPhone”™ cype="uxs:scring” />
</ xa:achemas

£ S <x3iachema xmlns:xs="http://www. w3 . org/ 2001/ XNLSchema' >
cHz:redefine schemalocation="testml.x=d":>
<xz:complexType hawe="personType’>
<¥SicomplexContent>

fxZiextension base="personType">r
<¥8: SEqUENCE:
= I

<xs:element ref="cellFPhone™ />
</ HE:sequencer
£/ HsexXtensions
</ wa:icomplexContent >
</us:complexTypesr
</Hs:redefiner
<xs:ielement name="cellPhone”™ type="xs:string”™ /»
</ x3:schemar

G ] It iz not possible to implement & function of the type proposed.

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: C

110-002 PDF Dumps | 110-002 Practice Test | 110-002 Study Guide 3/5


https://www.pass2lead.com/i10-002.html
https://www.pass2lead.com/i10-002.html
https://www.pass2lead.com/i10-002.html

P 2L d https://lwww.pass2lead.com/i10-002.html
aSS ea 2024 Latest pass2lead 110-002 PDF and VCE dumps Download

—— https://Pass2Lead.com

QUESTION 2

Which of the following is clearly an unnecessary step in procedures to create digital signature via XML-Signature?
A. Prepare a key for signing

B. Normalize the subject of the signature (normalization via Canonical XML, etc.)

C. Remove namespaces in the subject of the signature

D. Calculate a digest of the subject of the signature

Correct Answer: C

QUESTION 3

Which of the following is incorrect with respect to XML?

A. An XML document features high data readability

B. An XML document can be transmitted over general-use protocols such as HTTP and SMTP
C. XML is designed with the ideal structure for storage in an RDB (relational database)

D. Some RDBs (relational databases) can output results data in XML format

Correct Answer: C

QUESTION 4

Push the Exhibit Button to load the referenced "XML Document," and process XML using "DOM Processing". Select
which of the following is the most appropriate expression of the results under XML 1.0. Line feeds and/or indents are not
reflected in the results.

[DOM Procesaing]
FProcezz XML using the following method.
Documwent output = updateXML (| doo ):
The wvarickhlec doo hore rofocrconoco the Docuncnt inotancz of the loadod XML Docunchnt.
The DOMN parser iz namespace avare.
Izzure no execution errors.

publ-c static Document updateXML | Document doc | §
Node datal doc.getElementsEyTagamelNI [("urn: xmlmascer t: EX", "datal™) .item(0)]:
Node dataz doc.getElementsEyTaglamelNI ("urn: xmlmascer t:EX", "datsZ™) .item(0):

dotal .appcndChild | datal )

return doc;

A. string value string value
B. string value string value

C. string value
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D. string value

Correct Answer: C

QUESTION 5

Push the Exhibit Button to load the referenced "XML Document 1" and "XML Document 2," and process XML using
"DOM Processing".

[¥ML Documentl]
<ns:rootl ¥mlns:ns="urn:xmlmaster:EX1M">-

<ns:data ns:info="value">string value</ns:cata>
</ns:rootl>

[ZML Document]
<ns:rooti xmlns:ins="urn:xmlmaster:EZZ"/ >

Select which of the following is the most appropriate expression of the results under XML 1.0. Line feeds and/or indents
are not reflected in the results.

[DOM Processing)
Procezs ZML using the following method.

Dozument output = updateXML | docl, doc2 ):
The wvariable docl kere references the Document instance of the loaded "XML Document 17.
The wvariable docZ2 kere references the Document instance of the loaded "XML Document 27,
The DIM parser is rawmespace aware.
Lasumz no exXecutior errors.

publiz static Document updateXML ! Document docl, Documwent dccZ )
SJtring N3 = "urn:xmlmasster:EX1";
Element data = (Element)docl.getElenentsEyTagNamels (NS, "cata™).itcem(0);

Atre info = data.gethttributeNodelN3 (NS, "infa™):

Atte imported = (Attr)doci.importlode (info, ctrues):
docz.gechocumentE lement () .SecitcribuceNodeNs ([ imported ) ;

recurn docs;

Correct Answer: C
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